CSE 143, Winter 2009
Sample Midterm Exam #2 Key

public void interl eave(Queue<Iinteger> q) {
if (g.size() %2 !'=0) {
throw new |11 egal Argunent Excepti on();

St ack<l nteger> s = new St ack<l nteger>();
int halfSize = q.size() / 2
for (int i =0; i < halfSize; i++) {

s. push(qg.renove());

\}Nhile (!'s.isEnpty()) { // s2q(s, Q);

\ g. add(s. pop()):

for (int i =0; i < halfSize;, i++) {
g. add(q. renove());

%or (int i =0; i < halfSize; i++) {
s. push(q.renmove());

&hile (!'s.isEmpty()) {
q. add(s. pop()):

} g. add(q. renove());

2. Two solutions are shown.
publ i c Map<l nteger, |nteger> union(Mp<Ilnteger, Integer> ni,
Map<I nt eger, Integer> nmR2) {
Map<I nteger, Integer> result = new TreeMap<lnteger, |nteger>();
for (int key : nil. keySet()) {
resul t. put (key, ml.get(key));
}

for (int key : nR. keySet()) {
if (result.containsKey(key)) {
result. put(key, result.get(key) + nR.get(key));
} else {
resul t. put (key, n.get(key));
}
}

return result;

}

publ i c Map<l nteger, |nteger> union(Mp<I|nteger, Integer> ni,
Map<I nt eger, Integer> nR) {
Map<I nteger, Integer> result = new TreeMap<l nteger, |nteger>();
for (int key : nl. keySet()) {
int value = nil. get (key);
i f (nR.containskKey(key)) {
int value2 = nR. get (key);
val ue += val ue2;

resul t. put (key, value);

}

for (int key : nR.keySet()) {
int value = nR. get (key);

if (!result.containsKey(key)) {
resul t. put (key, value);
}
}

return result;



6

Li st Node list2 = |ist.next.next;

| i st.next.next.next.next = |ist.next;
Li st Node tenp = list;

list = list.next.next.next;

list2. next = tenp;

| ist.next.next = null

[ist2. next.next = null;

public void renmoveLast (int n) {
if (front !'= null)
Li st Node current = front;
Li st Node spot = null;

while (current.next !'= null) {

if (current.next.data ==
spot = current;
}

current = current. next;

?f (spot !'= null) {

n) {

spot. next = spot. next. next;

} elseif (front.data == n) {

front = front. next;

}

Call

Output

nystery(3, 3); =3=

nystery(5, 1); *

nystery(1l, 5); 54 =3=21

nmystery(2, 7); 765* 432

mystery(1l, 8); 8765* 4321

public String repeat(String s, int n) {

if (n<0) {

t hrow new |11 egal Argunent Excepti on();

} elseif (n ==20) {
return "";

} elseif (n==1) {
return s;

} elseif (n %2 == 0) {

String tenp = repeat(s, n/ 2);

return tenp + tenp;

/1 alternative w thout tenp:
} else {

return s + repeat(s, n - 1);

return repeat(s + s,

n/ 2);




